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Q# 1:Natural numbers starts from..... -t P Z/)/" :,“__;w&/ﬁ
(a)o (b)1 (c)2 (d)3
Q#2:0.45 is called. —e t0.45
(a)natural number (b)even nuber (c)terminal number (d)non terminal number
Sl b3 Sl 3 ,wfg ,w("‘?/f
Q#3:a+0=..ccceuun. ?
(a)a (b)0 (c)1 (d)a-0
Q#4:-5+11=..... ?
(a)5 (b)11 (c)-5 (d)6
Q#5:7 = ?
(a) 25 (b)36 (c)49 (d)64
Q#6: V225 = ?
(a)14 (b)15 (c)16 (d)18
Q#7:8 is a perfect cube of........... -‘L./{’/ZK.--_S
(a)l (b)2 (c)3 (d)4
Q#8:Symbol of cube root is ... -4‘_&09(5?’4’/7.
N R ¥V (V5
Q#9:(axb) = ?
(a)a’x b’ (b)ab (c)a’ (d)b’
Q#10: 3 64 =......... ?
(a)4 (b)6 (c)8 (d)10
Q#11: 6 = ?
(a)214 (b)215 (c)216 (d)217
Q#12:Which one of the following is a perfect square -é{—d’/f}ﬁ Lzu?/c—u'fu’
(a)25.6 (b)0.256 (c)2.56 (d)2560
Q#13:4/0.04 = ... ?

1 | BLC o P SRS NN ] U o



(a)0.02 (b)2.0 (c)0.2 (d)20

Q#14: % = ?

(a)E (b)E (c)E (d)E
3 9 4 2

Q#15:The symbal ” isread as ety F e N
(a)and .4 (b)org (c)Belong to %U{J (d)none of these

Q#16: A set can be expressed in............... way: - t’lg@f/cuf‘?./" _____ /%'Kq’w k
(a)2 (b)3 ()4 (d)5

Q#17: Proportion is denoted by: < L P ?/g/l';
(a): (b):: (c)/ (d©\

Q#18:The relation between two or more proportion is called - t'MJwKux"l’:u.L'qu&»
(a)Direct proportion &/l//:".’. (b)inverse proportion J;é’ ....wl;?

(c)compound proportion .,)// bfﬂl’? (d)proportion bf»l':

Q#19: Loss=.....cccouc.. ?

(a)sp-cp (b)cp-sp (c)sp+cp (d)cp/sp
Q#20:3° X5 =i ?

(a)3x5 (b)(3x5)° (€)(3+5)° (d)(3/5)°

2 ol G350 0 oI5
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(Short QUEeStIoNS) i | gu yaie
(10X5=50)_t £ 05 L Jly g sl Fh=tiy10f ;29

Q# 1:Seprate rational and irrational numbers from the flowing. u:jbﬁumi&btﬁé/)’ybcurdjyjp
(1)7/0.04 (2) 2.152
Q# 2:Represent on number: _75 u:)//;lb'{, JU/
Q#3:Find the Squares of the following. (1) 11 (2) 7 SIS Y I RN
Q#4:Which number are perfect cube. (1)6859 (2)1100 ?c‘:...«’;’dé'cu?/cufu'
Q#5:Write the set in descriptive D={a,e,l,o,u} -uf(gc"é):&
Q#6:Define complement of set. _q)/bgf(f:pd:fi:ﬁw
Q# 7 :Find the Union if: E={3,6,9,12},F={4,8,12} fuf(}’fu:g

Q#8:1fA={1,2,3,4,5,6} and B={2,4,6,8} thenfind A-B?

JF e A B=1{2,4,6,8} »s A={1,2,3,4,56}/

Q#9: Factorize: 6ab-14ac _u:fu’;
Q#10: Factorize X+ 2X-3X - 6 _u:fu’;
Q#11:Find cube: (x + 4) g e S
Q#12:1dentify the base and exponent : m" ‘u:‘j”il/ ;’Ju'JV'
Q#13:Find the value : 2° i

Q# 14:Express in exponential form : axaxaxcxcxcxcxd -M&J’Ju &}
Q# 15:Define base and exponent. _uf‘ﬁgf"éu .;Lnuu

(Long Questions) | g Ju ok
(3x10=30)-t £ 10LJly o sl S ¥ty 03 f 129
Q#1:Simplify? U5
2xty —4
8x7y3

(1) (2) (32x1°)§

1 1
Q#2:If x -— =3 then find the value ofx3-— =7
X x3

Q#3:Factorize : 75-3 (a—b)’ -qu’f

Q#4:1f A={a,b,c} , B= {b,d,f} and C= {a,f,c}, thenshow that : AU(BNC) = (AUB) N (AuC) JrS
169 ) .

Q#5:Find the square root by division method : 256 -u:f,’)b”‘d/’;/"fij DIk

3 Q)M[%JS)HU)‘M‘%
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Section 1 (Objective Type)

&

KANZUL MADARIS BOARD

Four possible answers A, B, C and D to each question
are given. The choice which you think is correct, tick
only one answer with Marker, Ballpoint or ink Pen.

eon 27 L DuiC, B, A =iz e L i
A e TS iz S e L SF S ST e

Cutting will result in zero mark in that question. K
Question No-1 Choose the correct answer 20X1=20
D C B A Questions S.No
{1,3,5,8} {2,4,6,8} {2,4,6} {1,3,5} A={12,3,4,5,6},B={2,4,6,8} Then 1
ANB is:
{1,2,3,5,6,7,8} 0 {5,6,7,8} {1,2,3} A={1,2,3},B={5,6,7,8}, Then AUB is: 2
None of These Natural Irrational Rational 6T is----number 3
S =t 4o F 2 F e U al--6T0
225 3 30 5 Square of 15 is:---- 4
_LLd/ K15
5.57 6 5 4.47 Square root of 30 upto decimal 5
places is.
9&,/&;!3«?,;/@{30
Biquadratic Cubic Quadratic Linear ----polynomial has 1degree. 6
(}7./)/.’[? u7.uuf Gossss J./:_{ e bron 1 K%/Lpg’(;}//ff'""
None of these Co-efficient Constant Variable ----are clenoted by small letter. 7
S P S O gLl e § el L § I e
1 l_x 3 \/g x+y Which one is polynomials? 8
x2+3 X - T
y e MG A =t
2 . . 9
5x"-4 y -3Z following polynomials
has---- variable.
4 3 2 1 ,
5x-47y-3X
Q?;‘l’/f':‘"'u:%/%'/éfdjz'//}
TX+2Y-9XY | 8X+2Y-8XY | 8X-2Y-8XY | -7X-2y+9XY | Simplification of 4(2X-3y+XxY)- 10
5(3x-2y-xY)
1 o 5,5 IS



11,025 1105 107 210 (105)2=---- 11
2.27 5.06 5 4.5 (2.25)%= 12
2y(1x -2y+4z) | x(2- xy+z) | 2x(1-2y+4Z) | 2(1x-2y+4Z) | Factorization of 2X-4XY+8XZ 13
i:1----
3,375 375 18 45 (15)3=----- 14
a2-2ab-b? a’+2ab+b? a-2ab-b a-2ab+b? (a-b)2=----- 15
Sector Secent Chord Arc A line segment joining any 2 points 16
. . . of a circle is called----of a circle.
L 1 bz 2]
g—-—-[bﬁLbLufb@quégﬁ}
r
7 3 4 6 Convert 125 into decimal number 17
system.
gL e § e 125
3100g 32004 32454 33454 Convert 1765 into octal system. 18
SIS S L8 1765
36,42,49 25,36,49 25,36 30,40,50 Perfect square between 20 and 19
50:-—---
<& FF 850,420
None of these Compound Inverse Direct The relation between two or more 20
A S 7 U ) proportion called ---- proportion.
----ugjéf&"yuyué b'wl':u.L‘qu.L‘u
b
2 @M[%JS)HU)‘M‘%
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Subjective Type
Q.2: Attempt Any 10 Questions: 10X5=50
01 Separate the rational and irrational numbers 02 Find perfect square of the following
form the following ) Q/()”CJJ/J‘({JE
S0 S P AP S 19(2  79(1
-2 (3 VI1(2 =6l
03 10men can assemble 200 cycles in 8 days How | 04 Find the square root of the following by prime
many cycles , 5 men will assemble in 16 days ? factorization method ? Any one
UELE 16857570 Lkt 8 B 20045T10 (LN e GF s 3 b 210
¢ 2 S 249.64(2  817216(1
05 Add - 06 Simplify-
/T SV
|79c+2y3 — 4xy, 3x — 2xy® + 7xy and 2xy — 5x + 6y° | [6(2x +y — 7xy) — 3(5x — 2y + 5xy|
07 Find the product 08 Factorize the following
YIS SRS
|(x3—xy+y3) (x3 +xy+y3)| [ 3a%b + 7ab* — 8a2b?]
09 Find the cube (Any one ) 10 Convert the decimal numbers into binary
(HQJI)Q/(’L’”-./"( system.
S5x—1 a2+ 5b <Q/J’iuf(lbjél‘ff)w'd/lﬁ’1
156(2 786(1
11 Evaluate the following by using suitable 12 Aisha spent Rs.300 for purchasing 10 Kg
formula. potatoes . Find the rate of tomatoes per kg if
-q/d"cu.d/éﬁ/t:» the rate of tomatoes is thrice the rate of
47%53 potatoes.
d:rl//ygg.}&gd/w/bkf’g,:/'uﬁ4:‘_;/300:’7(!//}K/6L;‘514
ce LR ST Ju,/‘v"fu/,»}”r_,u
13 Define sector and Arc - 14 Find the square root of the following upto 2
~Q:/:‘>L'“JD//’JC®/”J} decimal places.
~U’,,/'/|”LV j,:/lﬁ”ﬁ»/igﬁjj@u
252  141(1
15 Calculate the measure of unknown side
G P Sk

Q)ML}S),-}L)‘)‘M‘%




Section:C

Attempt any 3 Questions

(3x10=30)

o1 If p={abecde}Q={aedou} and R={cded} then | 02 Find square root of the following by division
verify that method . §om (ﬁ y
. - M £ . ;J .
-2y R={c:d:e:i}nipz{a‘brod:e}fQ:{a:e:Izo:u}f/fi O el RS
oS 292412 996004 (1
PUQNR)=(PUQ)N(PUR)
04 Subtract.
03 14 persons working 5 hours daily complete a U'/(LZ/'J
work in 8 days . Find for how many hours per % — 8y + 47— 5w froma? 477 77— 47 —-5;— 5]
day ,35 persons may work to complete the same Y : Y Y
work in 4 days-
rKuu/r)”iugZ_/J;rKuﬁu;8£/r(£5;u»d,1’14
?‘E/rhuué‘fi/ugL/J;utu)Ad;TSSf
05 Find the value of x: + L and » + Twhen x+1=—4

x+1= —4 ,,ﬁ.@/ﬂi’”a{’jd/x‘*+%ﬂ|xz+%

@M[%S)Hw)‘w‘}:s(
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(MCQ’s)
Q#1: Encircle the cormrect option: (10)

1-Hesitation means :

(a)Hustle (b)Confident (c)Doubt (d)Debt
2-Synonym of "Display" is:

(a)Playing (b)Hide (c)To play (d)To show
3-Meaning of "Forbidden" is:

(a)Prohibited (b)Allowed (c)ToKill (d)Toruin
4-The synonym of "Profession" is:

(a)Hobby (b)Fun (c)Freetime (d)Job
5-"Progress" Means :

(a)Failure (b)Weakness (c)Improvement (d)Block
6-Meaning of "Commit" is

(a)To perfom (b)Deny (c)event (d)Idea
7-"Quarrel" Means :

(a)Event (b)Game (c)Fight (d)Play
8-Meaning of "Starvation" is :

(a)Fullness (b)Hunger (C)Fill (d)Richness
9-Synonym of "Murder" is :

(a)Tokill (b)Peace (c)Toact (d)Leave
10-"Patience" means :

(a)Tocall (b)To play (c)To show (d)To bear

Q#2: Choose comrect form of verb according to sentence. (05)

1-The Kid ___ onthe bed.

(a)Sleeping (b)Sleep (c)Sleeps (d)Is sleep
2-1t ___ Hot Yesterday.

(a)was (b)is (c)will (d)were
3-1 by air tomorrow.

(a)travels (b)traveled (c)will travel (d)travelling

1 b G350 0 15



4-He _ regularly from the next month.

(a)work (b)worked (c)working
5-it_ since midnight

(a)has beenraining (b)is raining (c)has raining

Q#3:Choose correct Parts of speech to complete the sentence.

1-Shahid is not only a teacher _ a successful business man.

(a)also (b)or (c)But also
2-The girl___ won the award is happy.

(a)whom (b)who (c)which
3-The Boy sittingnext  me iskind.

(a)in (b)to (c)on
4-  Have done our duty.

(a)my (b)we (c)he
5-You _ canbestexplain.

(a)itself (b)myself (c)himself
6-Who is knocking___ the door.

(a)on (b)At (c)into
7- ____ we have won the game.

(a)oh (b)alas (c)hurrah
8-Shewalks .

(a)slow (b)good (c)slowly
9-He goes _ school daily.

(a)in (b)at (c)to
10- Aliis____ intelligent student.

(a)a (b)on (c)the

(d)will work

(d)will raining

(d)not also

(d)to

(d)at

(d)their

(d)yourself

(d)in

(d)ouch

(d)poor

(d)on

(d)an

(10)

2 b G350 0 15
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Q#1: Translate into urdu. (Any two) (5x2=10)

1-Many people have migrated to urban areas because of the tough living style of village life.Not only this, the main
profession or occupation of village is also thought to be low paid profession, therefore the number of farmers is
decreasing day by day. OR
2-Hazrat Umer (741!'(5’/) remained caliph for ten and half years.He conquered a vast empire during his khilafat.He
introduced a great system of administration, which served as a model importance to justice and well being of
people. which served as a model for Islamic world he gave great important to justice

OR
3-0One Day, Haji Usman was sitting outside the masjid when he heard a noise in distance. It seemed like a fight
between two people .As he approached, he saw two men angrily arguing and fighting with each others.
Q#?2: Read this passage carefully and answer any 10 questions. (2x10=20)
Quarrelling is always harmful whereas blessed are those who are peacemakers. Haji Usman was a wise old mam
who lived in a little village near Faisalabad.The villagers respected him very much for his piety and sought his
advise on various matters. Haji Usman many time acted as a conciliator to settle quarrels. One Day Haji Usman was
Sitting outside the masjid when he heard a noise in the distance. It seemed like a fight between two people.while
reading as he approached. He saw two men angrily arguing and fighting with why did the villagers each others.Haji

Usman quickly recognized the two men as a Haroon and respect Haji Usman? Salman,two of his neighbours

Question (any ten)

1-why did villagers respect Haji Usman? 2-Which people are blessed?
3-Where did Haji Usman live? 4-Which habit is harmful?
5-What was Haji Usman’s role in sitting quarrels? 6-Who was fighting?
7-When Haji Usman heard nose of fight? 8-What did Haji Usman see?
9-Suggest a suitable title of this pages? 10- Write down two adverbs from this paragraph?
11-Write down first form of verb "saw"? 12-How Haroon and Salman were behaving?
Q#3:Change the voice (Any ten) (10)
1-He reads a book. 2-She is writing a letter. 3-I have killed a Snake.
4-Mangoes were eaten by him.  5-1 gave him 100 rupees. 6-He will pay the bill.
7-Close the window. 8-The students were playing game. 9-Bring the bag here.
10-The plants had been watered by him. 11-He was making a noise. 12- | respect my teacher.
Q#4:Write a story on moral...... “haste makes waste® OR Write an application for leave to attend marriage ceremony. (10)
Q#5: Write an essay of 80-100 words on any one of the following topics. (15)
*My favorite personality ® A true Muslim ® my hobby
Q#6: Translate into English. (Any1l) (10)

u‘.uj}‘DJJ’)JJ’_%%@KZ‘%(}"U}’,&Uuu‘.ca Ml.?ﬁdﬁ‘ b JJV@/L M..c;,:wu(j{’c;g/dﬁ‘ -1
4 i/Juif'%m-c, a/ﬂ}m!}.wfsuﬂ-un@f»giului’,ugéuggf@!w

GO UG e ST UIF LI Ut 30 20l U e oo U5 e U361 2 2
wg@bu‘{ugt{éu,uj&;icwéu‘@ S /J?@;ﬂlﬁ‘o;‘.uz&)/c:fa/.c;wiuvuzu;l}u?o;(u-ug
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(MCQ’s)
Q#1: Choose the correct answer: 25x1=25
1-Meaning of (Mighty’ is:
(a)very high (b)very deep (c)very high (d)very low
2-Meaning of ‘Dense’ is:
(a)Thin (b)thick (c)wet (d)dry
3-Imetaboyin market:
(a)a (b)an (c)the (d)none of these

4-This girl is Strongest in the class. (underline word is)

(a)Adverb (b)adjective (c)pronoun

5-Meaning of tundisciplined’ is:
(c)maintainrules

(a)driving (b)break rules

6-Please put the book the table:

(a)inside (b)at (c)on
7-Meaningof s ‘range of choice’.

(a)scope (b)opportunities (c)myth
8-Meaning of ‘reflects’ is:

(a)Hide (b)Show (c)put
9-She wrote a story, wroteis___ form of verb.

(a)lst (b)2nd (c)3rd

10-:The old man sat lazily-(underline word is)

(a)Noun (b)Adverb (c)Adjective
11-Meaning of (Simultaneously’ is
(a)At the same time  (b)At the different time(c)At the night

12-She is press the clothes. (correct the verb)

(a)Presses (b)Pressing (c)Pressed
13-Meaningof ____is (precious’.

(a)Valuable (b)Unvaluable (c)Costly
1l4-lthasbeen  since morning.

(a)Rain (b)Rained (c)Raining

(d)Interjection

(d)None of these

(d)in

(d)useful

(d)out

(d)4th

(d)Preposition

(d)None of these

(d)Press

(d)Highest

(d)Rains

1 b G350 0 15



15-You will pass if you work hard. (underline word is)
(a)Interjection (b) preposition (c) Interjection
16-Wow !what a nice journey. (underline word is)
(a)Conjunction (b) preposition (c) Interjection

17-Meaning of ‘ancient’is:

(a)Very old (b)Very new (c)Bright
18-We use form of verb in ‘Present perfect continuous tense’
(a)lst (b)2nd (c)3rd

19-Meaning of ‘paralyzed’ is:

(a)Unable tomove  (b)Ability of movement(c)Laziness
20-Baker __ four miles a day.

(a)Run (b)Ran (c)Running

2 1-Which part of speech connect words or group of words?

(a) Preposition (b) Conjunction (c) Interjection
22-She has the clothes.
(a)Wash (b)Washes (c)Washed

23-0On Saturday | work from nine to five. (underline word is).

(a)verb (b) Adverb (c)Pronoun
24-The clock has Working.
(a)Stop (b)Stopped (c)Stops

25-The bridge collapsed.

(a)Present indefinite (b)Past indefinite (c)Present perfect

(d)Adverb

(d) Adverb

(d)None of these

(d)4th

(d)none of these

(d)Runs

(d) Adverb

(d)Washing

(d)Adjective

(d)Stopping

(d)Past perfect

2 b G350 0 15
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Q#1: Translate into urdu. (Any two) (5x2=10)

1-A seminaris like a big meeting where people from different areas, Provinces and countries meet together and

present reports. In this seminar, experts from different countries will be describing the kind of work that women do

in their countries.: OR

2-0One day,Raheel and basit decided to go to the nearby forest to enjoy the natural beauty. Being nature lovers,

They kept walking along the path of the forest, all the time taking and enjoying the natural beauty all around them
.OR

3-The sands of the kharan desert browned lofty mountains with precious stones found and mines full of minerals

underground my land, keep fearless people abound oh my lord, keep them all safe and sound.

Q#2:Answer any 10 of the following questions. (2x10=20)

1-What did raheel do at the time of danger

2-What did raheel think the bear had done?

3-Name the two desert mentioned in the poem ‘natural beauty of Pakistan?

4-Which ancient site is mentioned in the poem? ‘natural beauty of Pakistan?

5-How many qualities of the people of Pakistan mentioned in the poem? ‘natural beauty of Pakistan?

6-Which benefits can students get from commerce education?

7-Why were the students excited about the computer stall?

8-Why did Arshad tour the province?

9- Why was Arshad believe that women must acquire education?

10-Write down the medical field mentioned in exploring educational opportunities.

11-Which prayer is repeated in each stanza of the poem ‘natural beauty of Pakistan ?

12- Write the definition of (emphatic pronoun’?

Q#3:Change into voice. (Any ten) (10x1=10)
1-We read book. 2-Does my mother teach me? 3-He won the match.
4-They will pass the test. 5-He is reciting the holy quran. 6-He was making a noise.
7-He has done his work. 8-She will take lunch. 9-1 was not reading a book.
10-we did not eat an apple. 11-1 advise him. 12-She wrote a story.

Q#4:Write a story on moral ”A Muslim brotherhood™  OR Write an application for leave to do an urgent piece

of work. (10)
Q#5: Write an essay on any 1 topic. (15)
®A true Muslim ® My Favorite book ®* My Hobby
Q#6: Translate into English. (Any 1) (10)

Juth///f&Lumu_u*duLumu_wwcwuwuz,uu_;fwu*’wfi 1876/;25(”!» 1
e KGNS 8- 31048 #1126
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1.All the food chain are joined are together to form.....

(a)ecological pyramid (b)food web
e J..é )J:]’: f %u}
2.Ecological imbalance is caused by:
(a)mlgratlon (b)over hunting
Jef 6/ el
3.Heartbeat is controlled by:
(a)cerebrum (b) cerebellum
X e

4.Sensory neurons carry message towards.

(a)muscles ¥+~ (b)glands/)i’-:{

5.In human, the eye color is developed due to the effects of:

(a)diet S8 (b) environmentd}7 l
6.Zygote is formed by the fusion of:

(a)two sperm cells (b)two egg cells
}5 (&2 )"7 u“(‘)}

7.The energy of the sun is trapped as chemical energy by——---—---

(a)Producers (b)Primary consumers
L 5Ly 255,978 1,

8.Consumers that actively hunt other organism are called :

(a)Prey /&% (b)Predator (§/6%
9.We can solve environmental problem by:
(a)reducing pollution (b)plantation,
ALL/[}(L}/J}J’ aj_/;’éd%/.;

10.The organism upon which a predator feeds are called —————--

(a)Prey 63
11.0zone is a layer of gasses in ——————-

(b)Carnivoresjsy 6

e AT
(dnone of these
ST U
'??’Jd/”?,’ﬂﬁ)){]

(ctropical

J}Jgﬁl/

(c)over population (d)all of these
b 20sl KoL T >
_‘LL“/JJ"/"/)/U!*’/’JQUJ
(c) medulla oblongata (d) hypothalamus
e T g JUE 4
YA A A e

(d)brain and spinal cord

!/;/)’/J L«/}’CL}
i B S U T U

(c)sense organ

///Tu*’:’

(c)genes ;> (d) both a, b U5
LC%.L;?!JL%ALL%LU}(
(c)two somatic cells (d) sperm and egg cell
K le2plons F L

_‘L&lgﬁfl;ufa/ﬂd/&)lﬁ&)@/f

(c)secondary consumers (d) tertiary consumers

2 iLipyF Sk EYSyS Yy
-UJL///@ Ku;/ulgg/»/?ubdw'ﬁj/{/{u
i
(c)Competition kL (d)None of these
gES SIS -dyas
(c)protection of endangered (d) all of these
L/Mg/(f/buLG/”) Vo

b et S F eSS /)d/uacu) S £l
(c)herblvoreszw (} i (d) producersJ ~ 1y
< Ldusrd Aol Lol

atmosphere of earth . -~
(a)Upper (}UL (b)Lower (/. (c)Middle _\+.s (dInner &u,c l
12.Energy of -————- is trapped as chemical energy by producers. ZEHNELS VBV AV
Y &Le’/“/)’

1]



(a)Moon £ lg (b)Atomﬁ' (c)Sun s (d) Earth ¢

13.The parts of a neuron which receive message are: ujZ_/ Jrs b 22 Ly
(a)cell bodies ’/,.ﬂ..df (b)dendrites J" % (c)axons s &1 (d) nuclei dyg}:
14.Which parts of brain is involved in precise and accurate body eonakrderen L i L g7 26
movements? ?66@6)@?}(({!/41)’
(a)Cerebellum H':u’ 4 (b)Cerebrum 4 (¢) thalamus u/ U;f;; (d)midbrain ¢/ o
15.Coodination between the parts of body is called : _‘at"uffu“/ﬂfﬂ/uyﬂziuﬁziﬁ
(a)Organ system _ (b)Nervous system (c)CNS (d) PNS
S v SIS A
1 6.Before mitoses sets of chromosomes are: u,?Z_ﬂ&,{“éf}’/)//éj.:c]‘j&L
(a)2 (b) 3 (c)4 (D5
17.In meiosis , the nucleus of cell divides : —e b KU U
(a)One time * | (b)Three times »* /uf (c)Four times .* /b (d)five times.* / 6&
18.You are different from your brothers and sisters. This is called : o "'J = ujé’.T /f' iz Lu}f ufu?f'%u;l’
(a)Variation cﬁld/“; (b)Adaptation =3/ (c)hereditary =2 a5 (d) mitosisu~” }’UL
19.Genes are located on: -U.?Z——LPL,L,/:}
(a)chromosomes (b)nucleus (c)centrosomes (d) cell membrane
/"’/’"/ U:%!S PP P /“u:/Jf
20. Nuclear division is followed by: —e it S Ky
(a)cytoplasm Litg#' L (b)nucleus U=* (c)chromosomes #»»5.)  (dcytokinesis% 6L~
21.The largest salt water body on the surface of the Earth is called : L‘J//g/f;édgulygiaw;i//“é/ JU:/
=
(a)ocean A (b)sea s4+ (c)strait 2.7 (d) bay &
22.The continuous rise and fall of sea level is called: -%V?W/’CVZ/L“'W LS
(a)currents o (btides/Zs4 (c)surf JL@’ (dDwaves J /7
23.0ne of the largest oceans of the world ‘aﬁlkh’/{lg;
(a)pacific ocean (b) Indian ocean (c) Atlantic (d)Antarctic
J‘?lﬁiﬁ £ p u’)gﬂﬁ ocean—t/ Ll
24. Made up Of different gasses : _c"_d/JCUK.fJ;
(a)lithosphere (b)hydrospgere (c)atmosphere (dbiosphere
FEA ey Yl e
25.Toxic gases enter the atmosphere due to: _‘L&}’ZJ}’}LQ}JKU:WM d'./;/’
(a)Noise pollution (b)-deforestation (c) waste combustion (d)use of chemical
u(uJTd/ ¥ JU’J/J Y] 5 Lloke_sy fertiizers§Us» u@ .lg:.(
Je

2 BEMAUE I U4
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1.What are ecological pyramid? ?u,?.lf’/i |G Jé’ Skl
2.What is predation? ?‘agﬁﬁd/’
3.Define the neuron and nerve ? ‘é - /7 d/:/'u! OI4

4 .Difference between the cerebrum and cerebellum? - /. ok 3 / e Hfu’ YLl Sz
5.What is gene? °+gfuf
6.What are products? ?ujgu'w/)")/’
7.What is meant by ocean current? _‘L;t/g@_uj’ud;
8.What is meant by pollution. ¢ ‘L}‘/gLJ)}JT
9.Name the types of pollution? - uﬂ?.rt’ﬁrlﬁ! JJ»’T
10.What is the role of OCED? -« /U¥OCED
11.Define the Economic development? ‘é__}cj /7 d/ J)’u’ 2
12.Who led the Shimla depulation? ?J L‘/ .wgd/ s AF
13.What was the purpose of the quit India movement? S A E L 7 IoE sk
14.What does GPS stand for? Q‘Lg..uf § GPS

15. what is air pollution? _uidi - /? d/ J)}JTJUJ
(Long Questions) | gu Juoda
(3x10=30)_ut Z10LJly p s Pty 03F 29
1.Define the pressure Also explain the relation between pressure, force and area?
g eolos S g 2 g S P8
2:Briefly explain some factor. Which effect global warming? ‘-’ij&?h’u/‘? JJ"'!’X{. L sl o5 s J}g

. b b
3: Write a note on the central nervous system? ?u.‘f’v/&}’/?('/ JIJA
4: Describes the establishment of the Muslim league and its objects? ?q/’ugyw qul(l} LJ?(L)
5: Explore the importance of Health care in development? -’.éo/lggqﬁ'gjﬂ/icﬁ‘ ufd/"f
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1.This universe is S0 ---------- e :,;d&tfgd:l/:‘;dlf

& slarge (%)

2 .Moon complete on revolution in an elliptical orbit

(54([,7,: all of these(»)

about the Earthen -------- :
none of these (») 21 days 6 hour({)
3.Galaxy has main ------------ types :

5(3) 2(¢)

4. The Moon moves to the Earth about average is ------

kilo meter
4600(>) 4400(%)
5.Moon ,the Earth only natural ---------- :
s orbit (3)

6.Sun is the closet star to the ------------

il all of these (5) ¢ Earth (&)
7 .The Earth is one of the ---------- in the solar system
Sl all of these (5) &or Sun (&)
8.0n the other side of the Earth is -------
& Sun () in Saturn({&)
9.The main excretory organic is

<% Lungs (5) Az skin (&)

10. The nervous systems is network of:
U141 lobes (»)
11.Cerebellum means -------------------
Jg Pons (»)
12. organ systemis called -----------
u’l,ol)vf’; Thalamus (&)
13. Acute kidney failure can be managed by.
Sl all of these () i~ bladder (&)
14. Top part of the brain is known as---------

df% bones (&)

¢/ /.4 Midbrains(>)

none of these(»)

—LfI nerves (&) f“‘(li Spin cord(—)

#0 dialysis (<)

S big (=) J#£ small ()
tfdf'/guguf ———————— Jr/'»d}%ﬁﬁfiuﬁ/’l’lfﬁ/:}dif
-

25 days(—) 27 day7 hours(-3)

_4‘:,"1,31 ----------- JJQEB/,}J’/
3(<) 1 ()
PR PPy S— bl A4 iy

35400(—) 384400(3)
P QR b bl 5 4 iy

¢/ waves(—) satellite 2”1k ()
_g,o/ygi/“%}g@/rﬁ/f;dlr

ulﬂ:/fGalaxy (<) 4o Moon ()
S — 857 et A

,C.l:a Moon (—) »/L- Planet ()
S J)J/MLUU:S/:’;JD’

%}/ Mars(—) Y2 Venus(3)
P —— 2 A9 A

£ livers (<) <7 Kidney ()

—Gmmmmen e SnekF T U0
JIu2 Neurons (<)
_%_.Jb/‘gf:kﬁ‘: 114 Jir

J #1355 Coordinator ()
et TS T2

Z,L} Brain (<) 2/ Nervous (&)
R @Wgé_nb'«’ji—g;f: 13/12J1/

/645 transplant (&)
E— ,BU!)4;!KESL;:14/JIV

Us35* Modula (—) ¢/ .4 Mid brain (&)




15. Body of parts between the coordination is called ----

PNS(5) CNS(&)
I IS

16. The information in the DNA is stored in the form of
code having ----------- organic bases

2(») 6(&)

17.Which of the following is not the organic basses of DNA:

J‘//,gj uracil (») ufl:é'Adenine ©)
18.The production of human growth hormone is
used for the treatments of :

Diabetes(») osteomalaysia({)

JHS A QLT

19.Small pieces of DNA are called :.

u:gclone(;) du;-%..‘“b template (&)
20.Which of the following disease can be treated by
the use of vaccine :.

/{Cancer(;)

21.In Which organism the human insulin is inserted for

JAIAIDS(%)

the commercial preparation is insulin: ?

/.o
u’é fungus (»)

u’%"' Algae (&)

22. What are major resources of solar system -------- .

iV » all of these (») ¢ Earth (&)

2 3. The name of pacific means ------- .

Yl parity (5) sl parity (&)

%tMﬁ~5/Tfuy/;Lur‘7£,ﬁ 154 Uiy
Nervous system(—) Organ system(J’)
(b'/u’;/' (b’/ugjf
S Qe S F S b S L U
UL

5(<) 4()
4,gi’«’u:fdyt&,!wd$vaufJ“5@» 174 Uiy
u:’u? Thymine (<) Jl:lf Guanine (<)

etk d sl yrhd LA FATui1s £ Ui

Dwarfs(—)  Night blindness(—3/)
bef s e fehsel,

LW FLEL E L 80y
..;“a;,g replica (—) 41k plasmid [e3)))
.cf_t'ncg'jf}"/)@l}igd/lg(f?/cufd}@n:20/,2Jlr‘

v/. measles (—) W‘bp Diabetes ()
Ut 1 FE Pt i3t s s 214 i

e ded g

gﬂf. bacteria (—) v s Virus (<)
et .z,uiu,’}'(?lb’f (bi:22 A

JE moon(—) & sun ()

_cb,vlb/gdjgﬂf»:23/f‘;d'r‘

u”)l} pure (—) ¢ peaceful (<)

24.The largest salt water body on the surface if Earth bl L{fé/) Ld‘l:uic{ﬁ..}c —I 8y {,i/ Ju’ff/ 244 iy

is called -
@‘0 bay (») Yo strait (&) Y- sea(—) J&+ ocean ()
25. Which is the third --------------- continents of the world. & (}”u.!}.c;h,/t{g; : 25/’,‘/J'r‘

none of these (») W’ Antarctica (&)

3 = U

t}f'dr’ North Asia (—) .l;}'.! Asia(d)
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(Short QUEeStioNS) i | guw e
(9%5=45)_t £03E v pco s Fhtiro f ;0 s

1.What is galaxy?

2.How are seasons caused?

3.What is lunar calendars?

4 .Define the solar systems ?

5.How are tides formed?

6.Which is meant waves?

7 .Define the pacific oceans ?

08. Define the nervous systems?

09. Define the Bacteria?

10. What are the two components that make up physical
quantity?

11. Define the chemical reaction?
12.What do you about Two Nation Theory ?
13. Define Pollution?

14. Define the current oceans?

15. Define the biotechnology?

?q—l{J@f: 14 v

e dnddw8Fr ity

S WIES S 3/
?éb@/ytfufi/rwﬁ%/t}dlr

S ISRy Y

el e Usdi64 U
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Ly S Ke U

Ut e F ULt F e B 104 iy

ey SN 1A U

SELE TN L F LSty
EAP R AEY N

oLy S Ay frat U

ey JEENE s A U

(Long Questions) il g Juisda
(3x10=30)-yt £ 10LJly p-ee sl Fétir03f 129

=

2. Write down different ways to reduce the pollution?

w

. Describe the role of the Bacteria in Bio Technology?
4. Discuss the aims and objectives of the U.N?

5. What is silent feather of Tundra region?

.Differentiate between Voluntary and involuntary movements.
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